0By * Dp(1-2)

41)-1+1-3=1
41)-140-=3=0
4(1)-1+2-3=2 1

41)-1+3-3=3

42)-T+1—-3=0

40)-1+4+3-2=0—
— —0=0
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DIND Dg(6 — 4) A0 -2+0-2=0
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Wb g o ooy

Dr(8— 4) i) -2F0-T=1L




L] )




qialaLotDo\iM,QnT.L

\C‘ylm\,n_p@@ b\@h
Mlo C@l% eﬂTﬁ\[w\

R3 | R [ Oulpuy

k.
0\

{, L
C

‘D
e
1”
‘\

77 7=
=92 J T Vv PV@J.“.V

Lwrwb R

E
=T I I A

e abcdef ghi *
.




.;n'pul. RI }

R3 R4

output |

f‘_‘\\k

C b
_\t

H‘|ﬂ3'ﬂ-':!"?ﬂﬁ.n
)
oS
N—

—

d




(813) (81 [ @

I | ouT | | I
_..f‘)_ —_—— ._D.?_ {?‘}‘__

—{

15003 |$112|

Cgy
“'””b? {'} 1 o] 1O
o]

Dp(1—=2) = 41)-1+1-3=1 _
_%{'1;}5) = qIJ-1+0-3=0
D=6 = A1) -1+2-3=2
DrI—=7 = 41)-1+3-3=3
Dr(1 58 = 42 -1+1-3=05
"Dr(3=1) = 40)-1+3-2=0"
T DF@—2 = A0 -TFT=-U=T0
Drfa—)'ﬂ = 4(1])—2-’(-2—(}:0
‘Dp(6—4) = 41)-2+0-2=
De(T—=3) = 4(1)-2+2-3=1

DF(8 = 4) M) —2+0-1=1.




